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Abw—) wAvh Abw—) wAvh Abw-4 wAvh Abw-4 5 Avh

1| &R BT = X 71 50 77 47 75 48 72 49 147 | 71 |73.8 | 77

2 | A HETRED ) 82 14 79 46 75 48 78 39 133 75 |78.5 | 82

30 B HERE (M X) 80 27 79 46 75 48 79 37 131 | 75 |78.3 | 80

4 | R wmE (R 1X) 73 50 83 29 80 27 75 46 125 73 |77.8 | 83

5 | B (#BHLX) 79 33 81 40 76 45 78 39 124 | 76 |78.5 | 81

6 | /MBS IFH (WA ) 82 14 76 49 78 41 80 34 124 76 [79.0 | 82

T NEE (F ) 74 47 80 42 79 33 81 29 122 | 74 |78.5 | 81

8 | B W | RbyBX) | 77 42 76 49 80 27 81 29 120 | 76 |78.5 | 81

9 | ML RESA = X) 75 45 81 40 79 33 81 29 118 | 75 |79.0 | 81

10 | A A& (LX) 87 0 83 29 77 44 76 43 116 | 76 [80.8 | 87
11| @l =k (M X) 82 33 78 41 77 42 116 | 77 |79.0 | 82
12 | BEFHZH (LX) 76 44 84 20 80 27 77 42 113 | 76 |79.3 | 84
13 | Ak F ) 79 33 79 46 81 21 80 34 113 | 79 |79.8 | 81
14 | KE & (MR IX) 81 20 88 0 78 41 75 46 107 75 [80.5 | 88
15 | JIgH FE | REra8x) | 79 33 84 20 73 50 82 23 106 73 |79.5 | 84
16 | EF FEIL (FHEEX) 77 42 87 1 78 41 82 23 106 77 |81.0 | 87
17 | FEH WL (H X) 79 33 83 29 78 41 82 23 103 78 [80.5 | 83
18 | gk B (F X) 81 20 78 41 79 37 98 78 79.3 | 81
19 | K& —pk (X)) 78 37 73 50 87 0 85 8 95 73 [80.8 | 87
20 | ®RJI EK (e X) 73 50 81 21 82 23 94 73 | 78. 82
21 | 1 R (LX) 86 0 81 40 74 49 93 0 89 74 [83.5 | 93
22 | MR EE o X) 83 5 84 20 79 33 80 34 87 79 |81.5 | 84
23 | FIER e (B X) 81 40 75 46 86 75 178.0 | 81
24 | U kE— (FEEX) 76 44 90 0 77 42 86 76 [81.0 | 90
25 | oo mR (Fk ) 77 42 77 44 86 77 |77.0 | 77
26 | /INE JRZ (e X) 89 0 90 0 79 33 71 50 83 71 [82.3 | 90
27 | ZW B | (REsBK) 81 40 84 8 80 34 82 80 |81. 84
28 | KA Al (7 X) 77 42 87 1 86 0 79 37 80 77 [82.3 | 87
29 | RaJEl Rk (B 1-X) 80 27 86 3 81 21 81 29 77 80 |82.0 | 86
30 | R M (4RIX) 82 14 79 46 82 16 76 79 |81.0 | 82
31 | &F Mz R X) 80 42 79 33 75 79 |79.5 | 80
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32 | & HufE (B RL1X) 74 47 90 0 80 27 74 74 | 81. 90
33 | B & (#HLX) 83 5 84 20 78 41 84 12 73 78 | 82. 84
34 | B JHA (& X) 81 20 87 1 73 48 69 73 | 80. 87
35 | A ¥l WENX) 80 27 83 29 83 13 69 80 | 82. 83
36 | #IH HAK (e 1X) 77 42 84 20 88 0 87 3 65 77 | 84. 88
37 | RRARE—ERR (HFLEX) 87 0 iV 78 41 82 23 64 78 | 82. 87
38 | K& (e X) 80 27 84 20 88 0 83 16 63 80 |83. 88
39 | FH H W X) 82 14 81 40 Y H R 54 81 |8l. 82
40 | Pex KHFEZ (8 5. 1X) 83 5 AT R Y 73 48 53 73 | 78. 83
41 | HF fik (FHEX) 81 20 82 33 U HKY 53 81 |81. 82
42 | MR F (A ) 83 5 82 33 83 13 FHIR S 51 82 |82. 83
43 | 5 AR (FEIX) 73 50 50 73 | 73. 73
44 | T & (LX) 85 0 84 20 80 27 92 0 47 80 |85. 92
45 | EMI RKE (B&+1X) 83 29 91 0 83 16 45 83 |85. 91
46 | FHh o OE (#BHLX) 88 0 79 33 84 12 45 79 |83. 88
47 | MR (e 1X) 84 0 85 9 80 27 85 8 44 80 |83. 85
48 | M fREL (h ) 85 0 77 44 44 77 |81. 85
49 | il g (e X) 86 0 83 29 83 13 89 0 42 83 |85. 89
50 | EFHEE (F X) 81 20 81 21 41 81 |81. 81
51 | FEB BN | (F&RIIK) 84 0 81 40 87 0 HHIR S 40 81 |84. 87
52 | AP K (B&1-1X) 92 0 82 33 85 5 91 0 38 82 |87. 92
53 | & R (F§ X) 82 14 91 0 82 23 37 82 |85. 91
54 | EE HE— (FHIX) 78 37 91 0 90 0 88 0 37 78 | 86. 91
55 | MifE  BAT (HERIIX) 78 37 88 0 87 0 89 0 37 78 | 85. 89
56 | A B (7 X) 78 37 95 0 37 78 | 86. 95
57 | M BE (FBHLIX) 92 0 84 20 88 0 83 16 36 83 | 86. 92
58 | A% FIR (FHIX) 80 27 84 8 35 80 |82. 84
59 | B (FBHLIX) EHE 90 0 87 0 80 34 34 80 |85. 90
60 | fEfE T (M X) 84 0 83 29 85 5 34 83 |84. 85
61 | i =0 | RLbrax) | 82 14 86 3 82 16 94 0 33 82 |86. 94
62 | RN HBE = X 79 33 88 0 86 0 FHIR S 33 79 | 84. 88
63 | PR fEL (7 X) 79 33 33 79 | 79. 79
64 | /BRSO FRA (v X) 86 0 88 0 91 0 81 29 29 81 | 86. 91
65 | T &IA (FBHLIX) 85 0 81 29 29 81 |83. 85
66 | Bp EE (B X) 86 0 83 29 86 0 B 29 83 |85. 86
67 | KEE B (FEIX) 88 0 83 29 29 83 |85. 88
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68 | Ak 5 (&IRX) 89 0 82 16 84 12 28 82 |85. 89
69 | THE (e %) 80 27 90 0 86 0 96 0 27 80 |88. 96
70 | IR AlZ (hk  X) 80 27 27 80 | 80. 80
71| B E (FHHEX) 83 5 84 20 25 83 |83. 84
T2 | MR U X) 84 0 92 0 82 23 23 82 |86. 92
73| TE R (e X) 82 14 85 9 M H K% 23 82 |83. 85
4| FHE OH— (B 1-1X) 89 0 85 9 85 5 85 8 22 85 |86. 89
5| B = (h X 90 0 85 9 85 5 85 8 22 85 | 86. 90
76 | M EE | GREIINK) 85 9 83 13 FHIR S 22 83 | 84. 85
T Kb EFE | BRbsrsK) |83 5 90 0 83 16 21 83 |85. 90
78 | I BLAFR Gk X) 81 21 21 81 |81. 81
9 | wmE k5 (FHEX) 87 0 84 20 89 0 20 84 |86. 89
80 | R M (X)) 85 0 84 20 90 0 20 84 |86. 90
81 | #5E 5L (FBHIX) 81 20 20 81 |8l. 81
82 | HiifE W (F ) 82 14 90 0 85 5 19 82 |85. 90
83 | ek iR (FHEX) 83 5 93 0 83 13 88 0 18 83 | 86. 93
84 | £ FniE (F X) 83 5 85 9 89 0 87 3 17 83 |86. 89
85 | faA OtKE (&RX) 82 14 88 0 SIS HHIR G 14 82 |85. 88
86 | A A | (RfsBX) 97 0 89 0 84 12 12 84 | 90. 97
87 | Hii BHE— (FHIX) 98 0 90 0 84 8 87 3 11 84 | 89. 98
88 | kMW il G %) 87 0 89 0 85 8 8 85 | 87. 89
89 | /L dE— (FHEX) 87 0 85 5 5 85 | 86. 87
90 | HHF E (B 1) 88 0 100 0 85 5 5 85 |91. 100
91 | AJII EA (F X) FHT R Y 85 5 5 85 |85. 85
92 | MI'F 2 (BBHLIX) 98 0 87 3 3 87 |92. 98
93 | Al RIA (8 LX) 89 0 87 1 88 0 88 0 1 87 |88. 89
94 | fFtRg | GEEIIX) 86 0 87 1 89 0 1 86 |87. 89
95 | ME FX (7 X) 87 0 87 1 96 0 1 87 |90. 96
9% | A% A (&RIX) 87 1 U HKY 1 87 |87. 87
97 | HH BE (FHIX) 89 0 88 0 0 88 |88. 89
98 | EHH flk (BB 5LIX) 94 0 95 0 89 0 89 0 0 89 | 91. 95
99 | A0 fik Gk 1X) 84 0 88 0 89 0 0 84 |87. 89
100 | TS MBS (FFHEX) 89 0 90 0 86 0 90 0 0 86 | 88. 90
101 | Hlh —F R X 88 0 92 0 90 0 0 88 | 90. 92
102 | K2R B (8 5.IX) 86 0 HHIKR G 91 0 0 86 |88. 91
103 | AR ¥ (WA X) FHTR Y 94 0 0 94 |94. 94
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104 | HR EE (B 7 IX) 90 0 89 0 89 0 FHTR 0 89 189.3 | 90
105 | fEA R | FERIIX) U H X% HHTR S 0 1000 | - 0
106 | =34 i5FE] (hk %) FHTR Y AT R Y 88 0 0 88 |88.0 | 88
107 | gARIE—RR | RbrBX) | 94 0 91 0 91 0 0 91 ]92.0 | 94
108 | Hril vEsE (6 LX) 91 0 0 91 |91.0 | 91
109 | MEEE ME R X) 89 0 HFRIK Y 0 89 189.0 89
110 | 50 Hepk U X) 86 0 88 0 0 86 |87.0 | 88
111 | FEke  ®iE | R by #BX) | 88 0 89 0 0 88 |88.5 | 89
112 | /AR Ffd = X) 94 0 89 0 0 89 |91.5 | 94
113 | A i —HR (A X) 99 0 89 0 0 89 194.0 99
114 | AFH FHA (=IRIX) 90 0 90 0 0 90 190.0 | 90
115 | HEAF 8 (A=RIX) 84 0 SR 0 84 |84.0 | 84
116 | f3 F— (WA X) 85 0 FHIR S 0 85 |85.0 | 85
117 | ARIGE - T (HBHLIX) 86 0 0 86 |86.0 | 86
118 | JIve  #&A (FLEX) 87 0 0 87 |87.0 | 87
119 | &g Kk (FHEX) 87 0 0 87 |87.0 | 87
120 | fir@l & (B %) 90 0 0 90 90.0 | 90
121 | w5 o X) 107 0 0 107 |107.0 | 107
122 | JkH il (FHEX) HHTR Y 0 1000 | - 0
123 | b K (FHX) FHI R Y 0 1000 | - 0
124 | ¥ EAh = X) HHTR Y 0 1000 | - 0
125 | fgtE iz (B 1 1X) FHIR Y 0 1000 | - 0
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